FI6EE B S FEAFKBRERKR (BfE: )

L st win| SO SRR i s |FRE
—MRATE ik sAFREE| 38 29 14 0 3.2 8
—MATE B cxse | HT4 |13 11 4 3 0 3.7 3
IR L o e | 1 0 0 0 - 0
—ARAT EC HHk agRrE| 12 12 9 5 0 2.4 3
—RRATEOB A (2ucsetk) =4 6 6 4 2 0 3.0 2
@%ﬁ%%ﬂ;ﬁfgm& P2 4 9 0 0 — 0
IR (EA) bk 148 1 0 0 0 0 — 0
Heffilk (EA) B oo | #5F4 1 1 0 0 0 — 0
IR (EA) 0k V4RE| 2 2 2 2 0 1.0 1
Hiffiltk (EAR) 90k cmose) | &T4 0 0 0 0 0 — 0
A CRE5E) b 48| 0 0 0 0 0 — 0
Bk (BE5L) Bk s | 1A FRE 1 1 — 1 0 1.0 0
(R TN 148 4 4 2 1 0 4.0 1
BB A 4R 2 2 2 1 0 2.0 1
R+ sARREE| T 7 6 0 2.3 3
B L (wsath) 144 PR 1 1 0 0 — 0
i 94 81 45 0 3.0 22

THSEE BHBERAHRERKR (BfT: N)
—MRATEC L% 64T | 42 37 15 3 5.3 8
—MEATEC: HTHk 34| 16 16 10 2 3.2 6
@%ﬁ%%ﬂ;ﬁfgm& Vg 4 4 9 0 4.0 1
IR (EA) 0k V4RE| 2 2 1 0 2.0 1
il (e 50) _Ek 4R 2 1 1 0 1.0 1
R+ 64| 24 22 16 3 3.7 6
TH BT )% 24 TR 7 6 5 1 2.0 3
3 97 88 50 9 3.7 26




[MAEE RBHESRAGRBRERNRR (Bifiz: N)

N N S i e ot om | FREE
—MRATEOR bk 64| 69 54 18 1 9.0 5
—IATEON OIRk (35 R) | 14RRE | 11 8 4 1 8.0 1
— AT ECR Ik 34RE | 15 14 10 2 4.7 3
(LT B 1R 8 7 3 0 7.0 1
Bk (BAR) Lk 1415 1 1 1 0 — 0
Btk (HA) 48k 144 PR 1 1 1 0 1.0 1
Heptimk () bk 148E| 0 0 0 0 — 0
(BT 24|l T 6 4 0 2.0 2
17 -k TAHREE|] 9 9 7 0 1.5 6
Bk Ik apTEEl 8 6 6 1 2.0 3
He ik (1AR) bk ccwessp) | 14AFRREE 0 0 0 0 — 0
b CREE) Bk cwsp) | 1AFRE 0 0 0 0 — 0
B LI (cwssp) 144 R 1 1 1 0 — 0
#t 130 107 55 5 4.5 22

THIEE BHBERAHREREKR (BifT: N)

R S RS il piee atian| (an) | EAH
—RATEOR -k THREE| 59 46 23 2 6.6 9
— AT ECR )k 34RE | 15 15 9 1 3.8 4
(LT B i 6 6 2 0 0 — 0
Fefifk (BA) bk 148E| 0 0 0 0 0 — 0
Btk (HA) ##k 14 R 2 2 2 2 0 1.0 2
Heffimk (R 5E) bk 148E| 0 0 0 0 0 — 0
Bk (FBR) ik 14 R 1 0 0 0 0 — 0
(R P AT 24 FE| 5 4 4 3 0 1.3 3
RE Lk apEEl 12 11 9 4 1 2.8 4
B 20k 24 FE| 5 4 4 3 1 1.3 3
7 105 88 53 23 5 3.8 25




